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Sarah is ______ than Lily.

Answer: ___________________

Lily is ______ than Sarah.

Answer: ___________________

Kate is _______ than Lily and Sarah.

Answer: ___________________

Jake is ______ than Kate.

Answer: ___________________

Tyler is ______ than Jake and Kate.

Answer: ___________________

Amy is ______ than Tyler.

Answer: ___________________

Emma is ______ than Amy and Tyler.

Answer: ___________________

John is ______ than Emma.

Answer: ___________________

David is ______ than John and Emma.

Answer: ___________________

Ben is ______ than David.

Answer: ___________________



Answers

Sarah is ______ than Lily.

Answer: younger

Lily is ______ than Sarah.

Answer: older

Kate is _______ than Lily and Sarah.

Answer: older

Jake is ______ than Kate.

Answer: younger

Tyler is ______ than Jake and Kate.

Answer: older

Amy is ______ than Tyler.

Answer: older

Emma is ______ than Amy and Tyler.

Answer: older

John is ______ than Emma.

Answer: younger

David is ______ than John and Emma.

Answer: younger

Ben is ______ than David.

Answer: younger


